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1. If 𝐴 = [1  2
3  5], then the value of the determinant|𝐴2009 ― 5𝐴2008|is

a) ―6 b) ―5 c) ―4 d)4

2. If 𝑓(𝑥) = |
𝑥 ― 3 2𝑥2 ― 18 3𝑥3 ― 81𝑥 ― 5 2𝑥2 ― 50 4𝑥3 ― 500

1 2 3
|,then𝑓(1).𝑓(3) +𝑓(3).𝑓(5) +𝑓(5).𝑓(1) is equal to

a) 𝑓(1) b)𝑓(3) c) 𝑓(1) +𝑓(3) d)𝑓(1) +𝑓(5)
3. The value of the determinant|

𝑥 𝑎 𝑏 + 𝑐𝑥 𝑏 𝑐 + 𝑎𝑥 𝑐 𝑎 + 𝑏| = 0, if

a) 𝑥 = 𝑎 b)𝑥 = 𝑏 c) 𝑥 = 𝑐 d)𝑥 has any value

4. If the system of equations 𝑥 + 𝑘𝑦 ― 𝓏 = 0, 3𝑥 ― 𝑘𝑦 ― 𝓏 = 0 and 𝑥 ― 3𝑦 + 𝓏 = 0 has non-zero 

solution then 𝑘 is equal to

a) ―1 b)0 c) 1 d)2

5. If |
𝑥 𝑥2 1 + 𝑥3𝑦 𝑦2 1 + 𝑦3𝑧 𝑧2 1 + 𝑧3| = 0 and 𝑥,𝑦,𝑧 are all distinct, then 𝑥𝑦𝑧 is equal to

a) ―1 b)1 c) 0 d)3

6. Let [𝑥] represent the greatest integer less than or equal to 𝑥, then the value of the determinant 

|
[𝑒] [π] [π2 ― 6]

[π] [π2 ― 6] [𝑒]
[π2 ― 6] [𝑒] [π]

| is
a) ―8 b)8 c) 10 d)None of these

7. The determinant ∆ = |
𝑎 𝑏 𝑎𝑥 + 𝑏𝑏 𝑐 𝑏𝑥 + 𝑐𝑎𝑥 + 𝑏 𝑏𝑥 + 𝑐 0 | is equal to zero, if

a) 𝑎,𝑏,𝑐, are in A.P.

b)𝑎,𝑏,𝑐, are in G.P.

c) 𝑎,𝑏,𝑐, are in H.P.
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d)𝛼 is a root of 𝑎𝑥2 +𝑏𝑥 + 𝑐 = 0

8. Consider the following statements :

1. The determinants |
1 𝑎 𝑏𝑐
1 𝑏 𝑐𝑎
1 𝑐 𝑎𝑏| and |

1 𝑎 𝑎2

1 𝑏 𝑏2

1 𝑐 𝑐2| are not identically equal.

2. For 𝑎 > 0, 𝑏 > 0, 𝑐 > 0 the value of the determinant |
𝑎 𝑏 𝑐𝑏 𝑐 𝑎𝑐 𝑎 𝑏| is always positive.

3.If |
𝑥1 𝑦1 1𝑥2 𝑦2 1𝑥3 𝑦3 1| = |

𝑎1 𝑏1 1𝑎2 𝑏2 1𝑎3 𝑏3 1|, then the two triangles with vertices (𝑥1,𝑦1), (𝑥2,𝑦2),(𝑥3,𝑦3) and 

(𝑎1,𝑏1), (𝑎2,𝑏2),(𝑏3,𝑏3) must be congruent. Which of the statement given above is/are correct?

a) Only (1) b)Only (2) c) Only (3) d)None of these

9. The arbitrary constant on which the value of the

Determinant |
1 𝑎 𝑎2

cos(𝑝 ― 𝑑) 𝑎 cos𝑝𝑎 cos(𝑝 ― 𝑑) 𝑎
sin(𝑝 ― 𝑑) 𝑎 sin𝑝𝑎 sin(𝑝 ― 𝑑) 𝑎|

Does not depend, is

a) 𝛼 b)𝑝c) 𝑑d) 𝑎
10. If |

𝒂 + 𝒙 𝒂 ― 𝒙 𝒂 ― 𝒙𝒂 ― 𝒙 𝒂 + 𝒙 𝒂 ― 𝒙𝒂 ― 𝒙 𝒂 ― 𝒙 𝒂 + 𝒙| = 𝟎,then 𝒙 is equal to

a) 0,2𝑎 b)𝑎,2𝑎 c) 0,3𝑎 d)None of these

11. If the equations 2𝑥 + 3𝑦 + 1 = 0, 3𝑥 + 𝑦 ― 2 = 0 and 𝑎𝑥 + 2𝑦 ― 𝑏 = 0  are consistent, then

a) 𝑎 ― 𝑏 = 2 b)𝑎 + 𝑏 + 1 = 0 c) 𝑎 + 𝑏 = 3 d)𝑎 ― 𝑏 ― 8 = 0

12. If ∆(𝑥) = |
1 cos𝑥 1 ― cos𝑥

1 + sin𝑥 cos𝑥 1 + sin𝑥 ― cos𝑥
sin𝑥 sin𝑥 1 |, then ∫𝜋/2

0
∆(𝑥)𝑑𝑥 is equal to

a)
1

4
b)

1

2
c) 0 d) ― 1

2

13. If the system of equations𝑥 + 𝑎 𝑦 + 𝑎 𝑧 = 0𝑏 𝑥 + 𝑦 + 𝑏 𝑧 = 0𝑐 𝑥 + 𝑐 𝑦 + 𝑧 = 0

Where 𝑎,𝑏 and 𝑐 are non-zero non-unity, has a non-trivial solution, then the value of 
𝑎

1 ― 𝑎 +
𝑏

1 ― 𝑏 +𝑐
1 ― 𝑐 is

a) 0 b)1 c) ―1 d)
𝑎𝑏𝑐𝑎2 + 𝑏2 + 𝑐2

14. The system of equations 3𝑥 ― 2𝑦 + 𝓏 = 0, 𝜆𝑥 ― 14𝑦 + 15𝓏 = 0, 𝑥 + 2𝑦 ― 3𝓏 = 0 has a solution 

other than 𝑥 = 𝑦 = 𝓏 = 0 then 𝜆 is equal to

a) 1 b)2 c) 3 d)5
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15. Let 𝐷𝑟 = |
2𝑟―1 2.3𝑟―1 4.5𝑟―1𝛼 𝛽 𝛾

2𝑛 ― 1 3𝑛 ― 1 5𝑛 ― 1
| . Then, the value of ∑𝑛𝑟=1 𝐷𝑟 is

a) 𝛼 𝛽 𝛾 b)2𝑛 𝛼 + 2𝑛 𝛽 + 4𝑛 𝛾 c) 2 𝛼 + 3 𝛽 + 4 𝛾 d)None of these

16. In the interval [ ― 𝜋
4

,
𝜋
4

], the number of real solutions of 

the equations |sin𝑥 cos𝑥 cos𝑥
cos𝑥 sin𝑥 cos𝑥
cos𝑥 cos𝑥 sin𝑥| = 0 is

a) 0 b)2 c) 1 d)3

17. If 𝐴,𝐵 and 𝐶 are the angles of a triangle and

|
1 1 1

1 + sin𝐴 1 + sin𝐵 1 + sin𝐶
sin𝐴 + sin2 𝐴 sin𝐵 + sin2 𝐵 sin𝐶 + sin2 𝐶| = 0 then the triangle 𝐴𝐵𝐶 is

a) Isosceles b)Equilateral c) Right angled isosceles d) None of these

18. If 𝐴 = |
𝑎 𝑏 𝑐𝑥 𝑦 𝑧𝑝 𝑞 𝑟| and 𝐵 = |

𝑞 ―𝑏 𝑦―𝑝 𝑎 ―𝑥𝑟 ―𝑐 𝑧 |, then

a) 𝐴 = 2𝐵 b)𝐴 = 𝐵 c) 𝐴 = ―𝐵 d)None of these

19. If 𝑎 = 1 + 2 + 4 + …to 𝑛 terms, 𝑏 = 1 + 3 + 9 + …to 𝑛 terms and 𝑐 = 1 + 5 + 25 + … to 𝑛 terms, 

then|
𝑎 2𝑏 4𝑐
2 2 2

2𝑛 3𝑛 5𝑛| equals

a) (30)𝑛 b)(10)𝑛 c) 0 d)2𝑛 + 3𝑛 + 5𝑛
20. If 𝑐 = 2cosθ,  then the value of the determinant∆ = |

𝑐  1  0
1  𝑐  1
6  1  𝑐| is

a)
sin4θ 

sinθ b)
2 sin2 2 θ 

sinθ c) 4cos2 θ(2 cosθ ― 1) d)None of these

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114


